Q. The iRy O, Spmos & Tractor (%)
0 m= (ooo I-(g, P“NWL? A Troauler (Y)-

The frichon foyca on X = 600N
brk on, Y = 300N

(o lal the ﬂlriuiv\a ,'[70\((0 Fo and
the temsion CT) )f A Jy,(#cm
Mmoves At Clonstomt  Lpeed-

Y T T X
LA T
3ooN oo N
‘PDYCES balaunced b{c Constaut Speed
/pDY Y T-: 300N
for X  Fp = T+600 .. Fp=4900N

d (al 6 amd T 17[ e Jy.(}'apv
Acc akt ZM/;"-

Sanme dimgvam,

for Y  Fzma
T-300 =500(2)
= /300N

—)POYX F: na.
Fp —T—¢600 = |000(2)
Fp = 3900 N

8, A vmass of 4 Kg (s attaeched

- to A Sprin S, - This mast
1§  otbtached +£o aunothey nmyass

of 2AKg via o Thvead (T) 04
Show below -

Q) I\/M.YK- "Hm&
6) TewnSions (w
' Sl duwd T 4‘
waar K e
wajl,u‘s-

| l|, LH(g_ (&) 5’79@%’ akt
REST.
V 40N Pid T 4 T

Jov AKg T, =20N
.

‘f AW for 4 Kg Tj=Tp+40

20N 7}': 60N

v

.b) TA& {Ltn’ad, /s Now CLut ’ om the
wuddle So 71 ﬂm»lea Zeyo - Cal
the u/gzoard, acc 07( L/K; a4 7

F=ma
Q=P T 4o = 44

%:’ G= 5 wx/;"-
HoN

Ex
Cal acc o_[ 71(3,
mass whew
T | Lottoun Sl‘viu.g s
Tha cuk ?
o Va0
- ° at Rest T, :=30M
2 _r‘ - looN
l l ]’ 3Ka,.
30N dee F= ma
T -To-= Ta
loo - To = Ta
A= 30 m[s™
T
Ex
Cod aec C
T le 200
31(?, T, = looN
T
'J 2
o F=-wma
To loo —go = Fa
Q.Kg' a. = 2:_0 lN\ISZ"




